TOEIC IV — Most Common Word Forms (Test 2)
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. Another hot cake shop opened up! They seem to be

Fill in the blanks with the correct words:
difference understanding increase justification

What's the between the new iPhone and the old one?
We've seen a sharp in sales since airing the commercial.
There is no for stealing money from this company!
All the trains have stopped. We are sorry for the inconvenience. We
thank you for your

differently increasingly masterfully understandably

. Businesses going bankrupt in this terrible economy are becoming

common.
If I'd known the project would fail, I'd have done things
Our boss is angry. You should have finished by now'
It was amazing how the young chess player beat players
over twice his age.

differentiate understand justify increase

As sales are so good, we are going to our staff to 50.

. In the crowded smart phone market, companies are finding it hard to

themselves from other phone makers.

Our stock holders can't how we can sell 5 million
units, but still be losing money.

You have no job! How can you spending money now!

different understandable increasing masterful

every week.

We always eat the same thing for lunch. Let's try a dish.
Your anger is . You should have gotten the promotion!
It was how the general of the smaller army was able
to defeat the larger and much more powerful army of their enemy.
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